Process WEW= SR WZ SR
Asimov data set Data Asimov data set Data

EW WEW=* 209 + 26 210 + 26 — —

QCD WEW+* 13.8 + 1.6 13.7 £ 2.2 — —

Interference WHW+ 84+23 87+23 — —

EW WZ 14.1 +£ 4.0 17.8 +£ 3.9 54 + 15 69 + 15
QCD WZ 43+ 6.7 427 +74 118 + 17 117 £ 17
Interference WZ 0.3+0.1 0.34+0.2 22409 27+ 1.0
77 0.7 +0.2 0.7 +£0.2 6.1+17 6.0+ 1.8
Nonprompt 211 + 43 193 + 40 146 £ 74 144 + 6.7
tVx 78+1.9 74422 15.1 £2.7 143 +28
Wy 9.0+ 1.8 91429 1.1+03 1.1+04
Wrong-sign 135+ 6.5 139 + 6.5 1.6+ 0.5 1.7 +07
Other background 50+1.3 52421 33+ 0.6 3.3+0.7
Total SM 535 + 52 522 + 49 216 + 21 229 + 23
Data 524 229



